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INSTRUCTIONS FOR THE CANDIDATES

' Eefcre altempting the paper carefully read out all the Instructions & Examples givel
| of Answer Sheet (OMR Sheet) supplied separately.

2 | Atthe start of the examination, please ensure that all pages of your Test booklet al

printed, your Test booklet is not damaged in any manner and contains 100
(General knowledge 1-40 & Technical 41 to 100) In case of any discrepancy
should immediately report the matter to the invigilater for replacement of mv
claim in this regard will be enteriained at the later stage.

3 An OMR Answer Sheet is being provided separately alnng mth thi& Test bool
up all relevant entries like Roll Number, Test Booklet € . In the es
OMR Answer Sheet and put your signature in the box pram

=

will be deemed to be an incorrect booklet code & ﬁunswer
candidate himself/herself will be solely responsible for all the ¢
error or omission in writing the test booklet code,

' 5 This Test Booklet consists of 8 pages mntalum_g 100 |
i 1-40 & Technical 41 to 100). Against each cfwﬁ,-sﬂﬂ :
are given, out of which one is correct. Indicate yo
suitable circle with BLACK/BLUE pen in the OMR An

Note: In case you feel there is more than

6 | The maximum marks are 100. Each qu
one mark each for enrrec:t anmer a d
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Q. No | Question -
=
L_lf The name Chitra Subramaniam is associated with
__|.{1) Bofors (2) Agni V. (3) Tatra (4) Adarsh

A Zero Hour is associated with

=
Y

L) parliament

(2) conserving nature
(3) ¢ conserving electricity

+{4) time tables

that of the boy's age find the sisters present age

) 14

3 | Aboyis 4 times younger than his sister. After 10 years, the sistars ‘age becomes

twice |

.“_

o 16 years _(2) 20 years (3) 24 years (4) 26 years
4 e value of i is .
702,
(1}3.139 (2)3.141 £3) 3.142 (4) 3143 2 e
5 | Select the correct option g

.4~ all rectangles are squares
Il all ellipses are circles =

Al all squares are rectangles | e
L/',IV. All circles are ellipses =
VvV

(1) 1 and Il are correct

|_A2) Il and IV are corroet
(3) | and IV are correct : gt oo

runs the fastest

(WA (2) B (3)D E Fa)
= Represent Satinder’s problem in fﬁa form of an equation: ~

costs Rs. 687 p""i Holyi—

£- 7
)68+ x=17- . (2)x-5 =68 ﬁ ﬂf"'“‘ 68=68
ntegrated Check Post refers to

ck post

overnment appaintment __{4) none of =
ng sechewal, Rﬂiﬁﬁﬂﬁﬁmﬂh*& gmananda and G D
1 _'In cﬂmmn' o

(1) excise che
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(4) Il and |l arejcorrect L
g | B runs faster than C but slower than A. A runs faster lhanﬁt slower tha
v

Satinder has Rs. 17 in her bag. How much money does she need tp‘hgy*@
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13

d

Raj Chéngappé isa
1) script write _(2) journalist 3) bureaucrat (4

A can com plele a job in 20 days, B can complete t| e same jo

60 days to complete the same job. They decide to work

after 5 days. How much time will A and B take to finish lhl"l'#"

‘El 1p_i1jd_J5 15ﬂ.5

| Asnail is ln,rmg to crawl out of a hole :il:l feet deep. l}urlngﬂu

at night, he slips down 4 feet. How many days will he take lll

1) 30 day (2) 25 days 3) 26 days #'29 days.

A cage conlalns some geese and some lamys. A man

17
e

4

be 7 and the number of feet to be 18, How many geese

Sl ST .‘,_-__d 5 416
I gan sham nam'in a certain cndad language mes:
language ‘'mohe sham nam' means itree-is big’ what

*‘f; gan_______ (2) mohe 3) sham
A'+ b’ = 'Mb?(ﬂ-_n-ﬂ-&-t-l-

¢‘I.|a+t=rla + b’ — ab) (ﬁ{awb}{lpirhi

(3)(a=b)(a° + b7 +ab a+bi-
Cars A and B are 200 km away from nth he. .Elrh mo'
speed of 25km/hr. Car B approaches Car A l'l.' a speed nﬂ’i kn
Car A travel by the time Car B catches up with it? =

LY 50 km (2) 100 km 15ﬂkm

A Presidential Reference is when t he pintnn of t

(1) President 1s sought _ " 13] sﬂm*f--
3) President is expressed =5
Vectrais a s

(1) unit of measure
3) peak in the Himalayas
Karam Chand Thupn, tlmin 5!

1 mai.andtextl!ﬂ
H e
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26 | Gurumukhi is a i "
| (1) language _ (2) book A8 script (4) philosophy
\ /@ TISS is a body that concerns
o :
(1)sciences | (2) social sciences (3) engineerin | : chmnmmlr.":ﬂ.
28 | A shopkeeper gives a discount of 20% on the price of an object whic -

Y1 Rs. 55 (2} Rs.60 3) Rs. 65 4)Rs. 70 - 1
zgyﬁL Lh=jnsbl = (3) {4) B to complete a job. How

Later he puts an additional discount of 25%. What is the objects price NOW g, :"j

-

[ ¥

Ais 5 times as efficient as B and A takes 40 days less than
many days will B take to complete the job

¥

3 '

(1) 20 (2)30 . . (%40 (4) SO
30 (a=b)la-b)=7?

(1) &%+ b% - 2ab (2)2a-2b (3) 2b=2a | (4j2(a-b)
31 | If ‘isatan’ is coded as hrzszm then what is the code word for saint

(1) zsmhr (2) mhrsz {3) rzhms (4) hzrsm .
32 | Which of the following is not the same as others: -

gebl@

(1) man woman children grandparents (2) seed seedling plant tree.
(3) infant child teenager man W'ﬁECD :
33 An angstrom is used to measure 4 ;5 .4
___| (1) depth (2) height (3) length 3 4] weight
__@ Which word does not belong with the othe

4

n?- (1) mammoth Mm{ta L {(3) immense . e hU
Z 35 1 The ratio between two numbers is 1:3. If one is added to both of fiiem th
]

between them becomes 1':_'._.!_. Find the hrg_er of the two numbers IZ‘J

4+ ¥
_ (3)2 (4)6 il T,

The side of @'8quare is equal to the base of a right angled triangle. Ass

of the triangle'is double its base. What is the ratio of the area of the s |

mmg!‘#. -
118 o (2

Y
£
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41 An inductor and a resistor are in series with a sinusoidal vo c
| is set so that the inductive reactance is equal to the resista

| increased, then J?W

Hh“*u' 2) Wy < Vg 3) V= Vi A%V, >
42 | Four wires of same material, same cross-sectional are and th

placed in parallel gives a total resistance of 0.25 Q. If the nmmt vire

series, what will be the effective resistance

2AN10 240 320
43 | Kirchhoff's current law is applicable to

| 1-1'| Electric circuits (2) Electronic cIrcuits ) |
I 4 Ciused loop in a» 5

..J..,

(1) Voltage (2) Current

The force of attraction or repulsion between the two po
Webers placed d meters apart in any medium of ra!nt' e

(1) my* mal(4m o W, d?) (2) my* m:ﬁMTi’ﬂ 'Pr
! f'ﬂ-, I'T'l-:j _1141T_!._l;_. rd ] ‘..-‘ ITI1 “m zfq'.n- -| d

Eddy currents always tend

(1) To flow in the direction of magnetic flux :
_-2) To flow in planes perpendicular to magnetic flux

(3) Can flow any direction

4) None of these

In symbols of PNP tranilﬁﬂrr-, and HPH tmnsllhmﬂ'l
dlractlun of |-.,4Il- ;_..n

(1) In series with main mndmg
3 In senes wuh auxllia,' w!ndm _

(1 J Both tmltage and frequancy
Lﬂﬂﬂ current alnne.s
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-L?’H-!E'E m&?ﬂm_gﬁ source is F'[_/m
L"*';} i*ﬂwe & bilateral (2) Passive & bilateral '3
—-—1_%_}_9_'.‘1’5_& unilateral 4 (4) Passive & unilateral
57 he maximum efficiency of a half-wave rectifier circuit can be
@ £ ),
+41) 37.2% _{2) 40.6% {3) 53.9% A ) B1.2% -
A 3-phase, 400 V, 50 Hz, 4-pole induction motor is fed from3-phase, 400 V supply and
runs at 1425 rpm. The frequency of the rotor emf is N, - ‘; 4
J)25Hz | (2)50 Hz (3) 48 Hz _+(4) zero
If a single phase motor fails to start but gives humming noise, it is because of
31) High voltage (2) Low voltage Lf
+4A3) Wrong connection (4) Winding may be short circuited
In an auto-transformer, the voltage ratio V,/ V, while V,> V/, , the fraction transferred
inductively is ) ; e ‘1
(N MI(V+ V) @IVal vy M) (AL V) _(4) (V-
61 A D.C. series motor iS running at rated speed without any additional resistance in
& % series. If an additional resistance is placed in series. The speed of the m &
(1) Increases \ss{2) Decreases
(3) Remains unchanged {4) Oscillates around rated speed
l EEE ) | The no-load current of a transformer normally varies from a‘
\L,.m 0-2% _1_42) 2-5% 743) 5-10% '\L_@:. 10-15%
g3 | Which of the following is not the high voltage fuse ’ ?
E/L (1) H.R.C fuses M Cartridge type fuses %_ = i’
(3) Liguid type fuses. (4) Metal clad type fuses
64 If the speed of an alternator is changed from 3000 rpm to Egg rpm, the emf gen
will become —_
) Twice One fourth L{-a} Half _%4} Four times.
g5 [ The m;teriale.‘#::grlgw retentivity are suitable for ;
o Temporary magnets (2) Weak magnets (m v
3) Strong magnets (4) Permanent magnets g
g6 | The reluctance of a magnetic circuit of length / m, area of cross-sectio
absolute and relative permeability po and p, respectivelyis
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The Iength of a certain conductor of resistance 1nnn ln
area is halved. Its new resistance is:

M i e 2) 200 0 3) 50 Q

The effect of connecting an additional parallel load to an, alﬂ 4
increase the Hq 7 .7.

u' 1 ':. Resmtanm of the load

when it carries a current of 5A is:

= J_ﬂ,_}z 987*10° T 225&4*1{] i

| The r.m.s voltage for the given voltage waveform V= Eﬂ'ﬂ
‘ {

131682V 2)160 Y 3 50 \/
An ¢ eleutrnmagnet has an air gap of 4 4 mm and flux ﬂEI‘IEﬂ:]I’ i
Wh/m*.Determine the ampere turns of the gap N

-
1 (1)4138 2) 4150 3)4500
Which of the following transistor amplifier cnnﬂgurﬂlpﬁi' 1

(1) Common base 2) Common collector § (3rCommo :
I The field on an induction motor rotor rotates With reference t

(1) Slip speed 2) Rotor speed 3 ‘u’é low spe ed -
As compared to a split phase motor, a t:apaﬂtnr sta motor |

4+41) Higher starting torque star

3} Higher running torgue 4) None of these .
A 25 MVA, 11 kV alternator is supplying full load at a powe
Determine the increase in earning capacity when it i Hﬂ i

factor of 0.96 lagging
(1) 4.56MW 2)5.90 M\

An air cored sol ﬁu:d of Iength 50 'l.':t‘l'l,.
flux inside the coil is
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| D)

,!r-"f"f ) 30° behind the respective phase currents {_42) 30° ahead the raspectl%i‘e pﬂ%ﬂ cu

SSA (28042012) =
= - ; { #v
_ Q, [l e
[_E? The forbidden energy gap for germanium is " ~0“ - i
{ - ' 7 -_":
L) 0.3e V __(2)35eV (3)0.7e V (4) 1 3 .
88 | A synchronous motor can run at
(1) A leading power factor (2) Unity factor
113 Lagging. leading or unity power factor (4) Zero power fa::tn - =7
In 3-phase balanced delta connected system, the line currents are >4

(3) In phase with the respective phase currents (4) None of these
A resistor of 100 Q is connected in series with a 50 p F capacitor to ashbphj of 2
50 Hz , the power factor for the circuit is f=vL

(1) 0.86 (2) 0.63 (3) 0.75 (4) 0.92

91

@11) Maximum R, and minimum R, Af2) Minimum Ry and minimum R,

A D.C shunt motor has external resistance R, in the field circuit and R, in the ai
circuit. The starting armature current can be reduced by keeping

inimum R, and maximum ..~ (4) Maximum R, and maximum Ry—

@L

A magnet has a pole strength of 5°10~ Wh its field strength at a distance of 20 ci
the pole in the air is i

-

#ﬂ : ey
(1)6.15 N/ Wb (2) 7.06 N/ Wb ! (3) 7.916 N/ Wb {4}?.54[.1_11% Vb

93 | The open circuit test on transformer is performed to obtain .
(1) Leakage impedances  (2) Ohmic losses  (3) Hysteresis losses WE re losses
g4 | Forthe protection of steady loads. the fuse should be selected to provide
| (1) Overload protection | 42T Short circuit protection  (3) Both (1) & (2)  (4) N
Z@ In order to find Z;, in Thevenin's theorem i
L _(ATAll independent voltage sources are short circuited and all independent cu
are open circuited. :
L-+t2) All independent current sources are short circuited and all independent v
are open circuited. '
—+3) All independent voltage and current sources are short circuited
(4) All independent voltage and current sources are open circuited
gg | The efficiency of a transformer at full load 0.8 p.f. lag is 90%. Its
ﬂlﬁ-pr. lﬂﬁd i.s * i - 8L
(1) Lessthan90%  (2)Morethan90%  |A3j90%
g7 | Maximum pm-.r,al‘ is transferred from a:.mum‘ni'm.-a.ilﬁaiﬁmn- :

he load resistance is very Iarga
thﬂ load reststanae is 's.fe
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